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bool check(int 1lim){
int res = 0;

for(int i=@;i<n;i*=1){

int r= 13

while(r<n && a[r]-a[i]<=1im)
r++;

res++;

 REE

}

return res<=k;
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https://github.com/TNFSH-Programming-Contest/2022NHSPC-TNFSH-Preliminary/blob/main/pC/solution/ac.cpp
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1t dl = 0; dl < 4; di++) {
t tr = trees[treei].first + dir4[dl].first;
't tc = trees[treei].second + dir4[dl].second;
lv[tr][tc] && cur_r[tr] < rcnt[tr] && cur_c[tc] < ccnt[tc]
conflict = false;
for (int d2 = ©; d2 < 8; d2++) {
if (v[tr + dir8[d2].first][tc + dir8[d2].second] & TENT) {
conflict = true;
break;

}
if (!conflict) {

v[tr][tc] |= TENT;
cur_r[tr]++;
cur_c[tc]++;

dfs(treei + 1);

vitr][tc] &= ~TENT;
cur-ritrl=-=;
cur_c[tc]--;



https://github.com/TNFSH-Programming-Contest/2022NHSPC-TNFSH-Preliminary/blob/main/pD/solution/xiplus_dfs_tree.cpp
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AC code g

const int N = 2e5+10, MOD1 = 1e9+7, MOD2 = 1e8+7;
int n; m;, 55 € q;

vector<int> G[N]; // {eid}
vector<pii> edg; // weight, to

typedef pii posb;
posb operator + (posb i, posb j)

{
return { ul: (i.ff+j.ff)%MOD1, wu2: (i.ss+j.ss)%MOD2};
}
posb operator * (posb i, posb j)
{

return { ul: (i.ff*xj.ff)%¥MOD1, wu2: (i.ss*j.ss)%MOD2};


https://github.com/TNFSH-Programming-Contest/2022NHSPC-TNFSH-Preliminary/blob/main/pG/solution/correct.cpp

AC code

int dis[N];

posb sto[N];

void dijks() // s to t

{
memset( b: dis, c: Ox3f, len: sizeof(dis));
priority_queuve<pii, vector<pii>, greater<pii>> pgq;
dis[s] = 0;
sto[s] = { ut: 1, u2: 1};
pg.push( v: { ul: 8, & s});

while (!pg.empty())

{
int d = pg.top().ff;
int u = pqg.top().ss;
pa.pop();
if (dis[u] < d) continue;
for (auto e :longlong : G[ul)
{
int w = edglel.ff;
int v = edgle].ss;
if (dis[v]>d+w)
{
sto[v] = sto[u];
dis[v] = d+w;
pg.push( v: { & dis[v], &: v});
¥
else if (dis[v] == d+w)
{
sto[v] = sto[v] + sto[u];
b
4
+



AC code

posb tot[N];
posb f(int u)

{
if (tot[u].ff < 0)
{
if (u == t) tot[u] = { ut: 1, u2: 1};
else
{
tot[u] = { ut: 0, u2: 0};
for (auto e :longlong : G[u])
{
int w = edgle].ff;
int v = edgle].ss;
if (dis[v] !'= dis[u]l+w) continue;
tot[u] = (tot[u]l + f( u: v));
}
}
}

return tot[u];



AC code

signed main()

{

yx
cin >> n >>m >> s >> t;
for (int i=1; i<=m; i++)
{
int u, v, w;
cin >> u >> v >> w;
G[u].pb(edg.size());
edg.pb({ & w, & v});
6[v].pb(edg.size());
edg.pb({ & w, & u});

dijks(); // build s-t dag and std
rep(i,1,n) tot[i] = { un: -1, u2: -1};

cin >> g;
while (g--)
{

int x, u, v, w;

cin >> x;

u = edg[(x-1)%2].ss;

v = edg[(x-1)%2+1].ss;

edg[ (x-1)*2].ff;

if (dis[u] > dis[v])
swap( & u, & v);

=
n

if (dis[u] + w != dis[v])
cout << "no\n";

else if (sto[u]l*f( u: v) == sto[t])
cout << "yes\n";

else
cout << "no\n";



